# Fairfield Township Resolution No. 23-136

## BUDGET COMMISSION AND AUTHORIZING THE NECESSARY TAX LEVIES

### AND CERTIFYING THEM TO THE COUNTY AUDITOR

(Board of Township Trustees)

Rev. Code, Secs. 5705.34, 5705.35

The Board of Trustees of FAIRFIELD TOWNSHIP, Butler County, Ohio, met in
the 10th day of 0tober, 20 23, at the office of
(regular or special)  Adm with the following members present:
Michael Berding -
Shannon Hant Kemeyer
Joseph Mc Albee -
Michael Bevolution moved the adoption of the following Resolution:
RESOLVED, By the Board of Trustees of FAIRFIELD Township, Butler County, Ohio
in accordance with the provisions of law has previously adopted a Tax Budget for the next succeeding
fiscal year commencing January 1, 2024; and
WHEREAS, the Budget Commission of Butler County, Ohio has certified its action thereon to the
Board together with an estimate by the County Auditor of the rate of each tax necessary to be levied
by this Board, and what part thereof is without, and what part within the ten mill tax limitation;
therefore, be it
RESOLVED, By the Board of Trustees of FAIRFIELD TOWNSHIP, Butler County, Ohio,
that the amounts and rates, as determined by the Budget Commission in its certification, be and the
same are hereby accepted; and be it further
RESOLVED, That there be and is hereby levied on the tax duplicate of said Township the rate of

each tax necessary to be levied within and without the ten mill limitation as follows:

=======================================			=======================================
			: ===== ======
	CERTIFICATE OF CO	OPY	
	ORIGINAL ON FILE		
The State of Ohio, Butler County,	SS.		
l,		_, Clerk of the Board of Tov	wnship Trustees of
Township, in s	aid County, and in who	ose custody the Files and R	ecords of said Board
are required by the Laws of the St	ate of Ohio to be kept,	do hereby certify that the fo	oregoing is
taken and copied from the original			
now on file with said Board, that th			
and that the same is a true and co	rrect copy thereof.		
WITNESS my signature, this _	day of		20
	Clerk of the Board	of Township Trustees of	· <del></del>
			Township
	Butler County, C		10001191110
NOTE: A copy of this Resolution m October in each year, or at suc			
======================================	AMOUNTS AND RAT IG THE NECESSARY	TAX LEVIES AND CERTIF	THE BUDGET
ADOPTED	, 20	FILED	, 20
TOWNSHIP CLEF	RK		COUNTY AUDITOR
			DEPUTY AUDITOR

FAIRFIELD TOWNSHIP		Divide by 1,000	effective rate	collection estimate C x D	2024 Estimate
General Fund					
RES/AGR VALUATION	529,246,800	529,247	0.29	153,482	
OTHER	35,240,570	35,241	0.29	10,220	
P.U. & TANGIBLE	18,374,350	18,374	0.29_	5,329	400,000
0 Police	582,861,720			169,030	169,030
o i once					
RES/AGR VALUATION	529,246,800	529,247	3.490469	1,847,320	
OTHER	35,240,570	35,241	3.49723	123,244	
P.U. & TANGIBLE	18,374,350	18,374	5.9_	108,409	
	582,861,720		·	2,078,973	2,078,973
09 Fire					
RES/AGR VALUATION	529,246,800	529,247	0	0	
OTHER	35,240,570	35,241	0	0	
P.U. & TANGIBLE	18,374,350	18,374	0	0	
	582,861,720	·		. 0	0
Road and Bridge					
RES/AGR VALUATION	529,246.800	529,247	1	529,247	
OTHER	35,240,570	35,241	1	35,241	
P.U. & TANGIBLE	18,374,350	18,374	1	18,374	
	582,861,720			582,862	582,862
Public Safety					
RES/AGR VALUATION	529,246,800	529,247	2.937355	1,554,586	
OTHER	35,240,570	35,241	2.923853	103,038	
1.U. & TANGIBLE	18,374,350	18,374	3.9	71,660	
	582,861,720		-	1,729,284	1,729,284
	RES/AGR VALUATION		7.717824		4,560,148
	OTHER		7.711083	=	
	P.U. & TANGIBLE		11.090000		

## SCHEDULE A

SUMMARY OF AMOUNTS REQUIRED FROM GENERAL PROPERTY TAX APPROVED BY BUDGET COMMISSION, AND COUNTY AUDITOR'S ESTIMATED TAX RATES

FUND	AMOUNT APPROVED BY BUDGET COMMISSION INSIDE 10 MILL LIMITATION	LEVIES OUTSIDE 10 MILL LIMITATION	COUNTY AUDITOR'S ESTIMATE OF TAX RATE TO BE LEVIED	
			INSIDE 10 MILL LIMIT	OUTSIDE 10 MILL LIMIT
GENERAL FUND	169,000.00		0.29	
ROAD & BRIDGE FUND	582,862.00		1.00	
CEMETERY FUND	<del></del>			
LIGHTING FUND				
GARBAGE & WASTE DISPOSA				
POLICE DISTRICT FUND		2,050,000.00		5.90
FIRE DISTRICT FUND		0.00		0.00
PUBLIC SAFETY FUND		1,700,000.00		3.90
PARK LEVY FUND			and has and and had and the but was and	
ZONING FUND				
MISCELLANEOUS FUNDS	-			
GENERAL (NOTE) BOND RETI				
SPECIAL ASSESSMENT BOND				
TRUST FUND				
BOND FUND	-		200 PG NO NO PO PG PG NO NO NG AG	
FEDERAL REVENUE FUND				
TOTAL	751,862.00	3,750,000.00	1.29	9.80

#### SCHEDULE B

## LEVIES OUTSIDE 10 MILL LIMITATION, EXCLUSIVE OF DEBT LEVIES

LEVIES OUTSIDE 10 MILL LIMITATION, EXCL	======================================	)  ===== ===============================	
FUND	COUNTY AUDITOR'S ESTIMATE OF YIELD OF LEVY (Carry to Schedule A)	MAXIMUM RATE AUTHORIZED TO BE LEVIED	
GENERAL FUND:			
Current expense levy authorized by voters on ,20 not to exceed years.			
Current expense levy authorized by voters on ,20 not to exceed years.			
TOTAL GENERAL FUND OUTSIDE 10 MILL LIMITATION	0.00	0.00	
SPECIAL LEVY FUNDS:			
Levy authorized by voters on 2000(POLICE) not to exceed CONT. years.	2,050,000	5.90	
Levy authorized by voters on 2009(CURRENT EXPENSE) not to exceed CONT years.	-	0.00	
Levy authorized by voters on 11/03/15, (SAFETY SERVICE not to exceed CONT years.	S) 1,700,000	3.90	
Levy authorized by voters on XXX(FIRE) not to exceed years.	0.00	5.00	
Levy authorized by voters on not to exceed years.		0.00	
Levy authorized by voters on not to exceed years.		0.00	
Levy authorized by voters on not to exceed years.		0.00	
Levy authorized by voters on not to exceed years.		0.00	
Levy authorized by voters on not to exceed years.		0.00	
Levy authorized by voters on not to exceed years.			

#### and be it further

RESOLVED, That the Clerk of this Board be, and he/she is hereby directed to certify a copy of this Resolution to the County Auditor of said County.

Shannon Havt Resolution and the roll being called upon its
adoption the vote resulted as follows:
185
Damar Hautengro. 425
gre m'al yes
Adopted the 10th day of 0 to but, 2023.
Clerk of the Board of Township Trustees of
Fiscal Officer Fairfield Township
Butler County, Ohio. Butler County

Approved as to form

L. E. Bubeie

Law Director